## Informational Report for the July 17, 2018, Board of Trustees Meeting

				New									
			<b></b>	Emp to		<b>D</b>		urly		-		Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Ra	te	Maximum	Am	ount	Beg. Date	End Date
Chabot College		1											
Chapot College		1	1		Teach sports in the Summer Youth Sports	Special Programs and	1		1			1	
Adams Bailey	Tracey	C.	Chabot	No	Program	Services	¢	22.00	46	¢	1,012.00	7/1/2018	7/31/2018
Additis balley	Tracey	С.	Chabot	NO	Project Aide for the Summer Youth Sports	Special Programs and	Ţ	22.00	40	Ŷ	1,012.00	7/1/2010	775172010
Alvarado	Claudia	A.	Chabot	No	Program	Services	Ś	17.00	54.25	Ś	922.25	7/1/2018	7/31/2018
/	Ciddaid	7	Chabot			Special Programs and	Ŷ	17.00	5	Ŷ	522.25	,,1,2010	775172010
Cerrato	Graciela	v.	Chabot	Yes	Lifeguard for the Summer Youth Sports Program	Services	Ś	19.00	35	Ś	665.00	6/14/2018	6/30/2018
						Special Programs and	Ŧ			Ŧ			-,,
Cerrato	Graciela	v.	Chabot	No	Lifeguard for the Summer Youth Sports Program	Services	Ś	19.00	46	\$	874.00	7/1/2018	7/31/2018
				-		Health, Kinesiology,							, - ,
Cerrato	Graciela	V.	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	100	\$	1,500.00	8/1/2018	12/31/2018
					Project Aide for the Summer Youth Sports	Special Programs and							
Cortez-Barragan	Eduardo	(nmi)	Chabot	No	Program	Services	\$	19.00	54.25	\$	1,030.75	7/1/2018	7/31/2018
		1			Provide services for the Foster and Kinship Care	Computing, Applied							
					Education (FKCE), and the Resource Family	Technology, and Social							
Hurts	Tenesha	(nmi)	Chabot	Yes	Approval (RFA) programs	Sciences	\$	20.00	30	\$	600.00	5/20/2018	6/30/2018
					Project Aide for the Summer Youth Sports	Special Programs and							
Ito	Maya	(nmi)	Chabot	Yes	Program	Services	\$	17.00	41	\$	697.00	6/14/2018	6/30/2018
					Project Aide for the Summer Youth Sports	Special Programs and							
Ito	Maya	(nmi)	Chabot	No	Program	Services	\$	17.00	54.25	\$	922.25	7/1/2018	7/31/2018
					Provide Math support for the Summer Youth	Special Programs and							
Jorgensen	Jami	(nmi)	Chabot	Yes	Sports Program	Services	\$	50.00	50	\$	2,500.00	6/14/2018	6/30/2018
					Provide Math support for the Summer Youth	Special Programs and							
Jorgensen	Jami	(nmi)	Chabot	No	Sports Program	Services	\$	50.00	50	\$	2,500.00	7/1/2018	7/31/2018
						Special Programs and							
Kho	Mathew	(nmi)	Chabot	No	Lifeguard for the Summer Youth Sports Program	Services	- ·	19.00	46		874.00	7/1/2018	
Martin	Joseph	Ε.	Chabot	No	Provide services for the TV Studio	Arts and Humanities	\$	22.00	650	\$ :	14,300.00	7/1/2018	12/31/2018
					Project Aide for the Summer Youth Sports	Special Programs and							
McClain	Kristopher	L.	Chabot	No	Program	Services	\$	17.00	54.25	\$	922.25	7/1/2018	7/31/2018
					Project Lead for the Summer Youth Sports	Special Programs and							
Musa	Mohamed	S.	Chabot	Yes	Program	Services	Ş	20.00	35	Ş	700.00	6/14/2018	6/30/2018
					Project Lead for the Summer Youth Sports	Special Programs and	1			4			
Musa	Mohamed	S.	Chabot	No	Program	Services	Ş	20.00	46	\$	920.00	7/1/2018	7/31/2018
						Special Programs and							
Pepin	David	R.	Chabot	No	Lifeguard for the Summer Youth Sports Program	Services	Ş	19.00	46	Ş	874.00	7/1/2018	7/31/2018
						Special Programs and		10.05				7/1/2010	7/04/06:5
Proctor	Matthew	(nmi)	Chabot	No	Lifeguard for the Summer Youth Sports Program	Services	Ş	19.00	46	Ş	874.00	7/1/2018	7/31/2018

## Informational Report for the July 17, 2018, Board of Trustees Meeting

				New						Ì			
				Emp to				urly		Ma	aximum	U	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Ra	te	Maximum	An	nount	Beg. Date	End Date
					Project Lead for the Summer Youth Sports	Special Programs and							
Rubino	losso	A.	Chabot	No	, , , , , , , , , , , , , , , , , , , ,	Services	ċ	20.00	46	\$	920.00	7/1/2018	7/31/2018
Rubino	Jesse	А.	Chabot	NO	Program Project Aide for the Summer Youth Sports	Special Programs and	Ş	20.00	40	Ş	920.00	//1/2018	//51/2018
Salazar	Andrea	(nmi)	Chabot	No	Program	Services	e la	17.00	54.25	ć	922.25	7/1/2018	7/31/2018
Sannebeck	Daniel	A.	Chabot		Provide services for the TV Studio	Arts and Humanities	Ś			· ·	14,300.00	7/1/2018	
Samebeck	Damei	<u>A</u> .	Chabot		Project Aide for the Summer Youth Sports	Special Programs and	7	22.00	030	Ş	14,300.00	//1/2018	12/31/2018
Setefano	Taufa	(nmi)	Chabot	Yes	Program	Services	¢	17.00	41	Ś	697.00	6/14/2018	6/30/2018
Seterano	Tauta	(1111)	Chabot	103	Project Aide for the Summer Youth Sports	Special Programs and		17.00	41	Ļ	057.00	0/14/2010	0/30/2010
Setefano	Taufa	(nmi)	Chabot	No	Program	Services	Ś	17.00	54.25	Ś	922.25	7/1/2018	7/31/2018
Secteratio	luulu	()	Chabot		Project Aide for the Summer Youth Sports	Special Programs and	Ť	17.00	51.25	Ŷ	522.25	7,1,2010	775172010
Tanco	Sara	м.	Chabot	Yes	Program	Services	Ś	17.00	41	Ś	697.00	6/14/2018	6/30/2018
					Project Aide for the Summer Youth Sports	Special Programs and	-			Ŧ			-,,
Tanco	Sara	м.	Chabot	No	Program	Services	\$	17.00	54.25	\$	922.25	7/1/2018	7/31/2018
Tejeda	Sandra	J.	Chabot	No	Provide services for the TV Studio	Arts and Humanities	\$		280		6,160.00	7/1/2018	
,					Project Aide for the Summer Youth Sports	Special Programs and					,		
Trejo	Angelica	S.	Chabot	No	Program	Services	\$	17.00	54.25	\$	922.25	7/1/2018	7/31/2018
-													
Las Positas Colleg	e												
					Provide American Sign Language services to								
Barrier	Mikayla	Α.	Las Positas	No	students	Student Services	\$	50.00			10,000.00	7/1/2018	12/31/2018
Dickinson	Cheryl	L.	Las Positas	No	Marriage Family Therapy intern	Student Services	\$	15.00	475	\$	7,125.00	7/1/2018	12/31/2018
					Provide American Sign Language services to								
Ferreira	Gabrielle	К.	Las Positas	No	students	Student Services	\$	50.00	200	\$	10,000.00	7/1/2018	12/31/2018
						Math, Science,							
					Provide services for the Fire Services Technology	Engineering, and							
Freelen	George	Т.	Las Positas	No	Program	Public Safety	\$	15.00	18	\$	270.00	5/1/2018	5/31/2018
					Provide supervisory services to Marriage Family								
Gecox	Heike	(nmi)	Las Positas	No	Therapy interns	Student Services	\$	75.00	90	\$	6,750.00	7/1/2018	12/31/2018
						Math, Science,							
					Provide services for the Emergency Medical	Engineering, and	Ι.			١.			
Goodman	Jenessa	Α.	Las Positas	No	Services Program	Public Safety	_	15.00	15	'	225.00	4/1/2018	
Hartman	Peter	W.	Las Positas	No	Marriage Family Therapy intern	Student Services	\$	12.50	475	\$	5,937.50	7/1/2018	12/31/2018
					Provide American Sign Language services to								
Markakis	Michelle	E.	Las Positas	No	students	Student Services	\$				10,000.00		12/31/2018
Medeiros	Mary Jane	G.	Las Positas	No	Provide services to disabled students	Student Services	\$	24.00			14,400.00	7/1/2018	
Medeiros	Mary Jane	G.	Las Positas	No	Provide services to disabled students	Student Services	Ş	24.00	109	Ş	2,616.00	5/15/2018	6/30/2018

## Informational Report for the July 17, 2018, Board of Trustees Meeting

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
						Math, Science,					
						Engineering, and					
O'Neil-Opipari	Jean	(nmi)	Las Positas	No	Provide services for the Public Safety Program	Public Safety	\$ 35.00	) 480	\$ 16,800.00	7/1/2018	12/31/2018
					Provide tutoring services to the Veterans Affairs						
Rizvi	Syed	Т. Н.	Las Positas	No	students	Student Services	\$ 35.00	) 50	\$ 1,750.00	6/15/2018	6/30/2018
					Provide tutoring services to the Veterans Affairs						
Rizvi	Syed	Т. Н.	Las Positas	No	students	Student Services	\$ 35.00	600	\$ 21,000.00	7/1/2018	12/21/2018
						Math, Science,					
						Engineering, and					
Sant	Stuart	E.	Las Positas	No	Work in the Paramedic Program	Public Safety	\$ 25.00	) 77	\$ 1,925.00	4/1/2018	5/31/2018
						Math, Science,					
						Engineering, and					
Shill	Caryl	(nmi)	Las Positas	No	Provide services for the Public Safety Program	Public Safety	\$ 35.00	480	\$ 16,800.00	7/1/2018	12/31/2018
					Provide American Sign Language services to						
Vilhauer	Daniel	Α.	Las Positas	No	students	Student Services	\$ 50.00	200	\$ 10,000.00	7/1/2018	12/31/2018
Las Positas College -	<b>Community Ed</b>	ucation									
Broida	David	F.	Las Positas	No	Teach harmonica and career classes	<b>Community Education</b>	\$ 30.00	20	\$ 600.00	7/1/2018	12/17/2018
Connolly	Dara	(nmi)	Las Positas	No	Teach wellness and activity classes	Community Education	\$ 30.00	50	\$ 1,500.00	7/1/2018	12/30/2018
Eberle	Christopher	S.	Las Positas	No	Teach CPR classes	Community Education	\$ 30.00	250	\$ 7,500.00	7/1/2018	12/17/2018
Hall-Patterson	Kris	(nmi)	Las Positas	No	Teach medical assisting and billing classes	Community Education	\$ 30.00	50	\$ 1,500.00	7/1/2018	12/17/2018
Kechich	Sonia	(nmi)	Las Positas	No	Teach language classes	Community Education	\$30.00	75	\$ 2,250.00	7/1/2018	12/17/2018
						,					
Kutil	Craig	Α.	Las Positas	No	Teach wellness and physical activity classes	Community Education	\$30.00	200	\$ 6,000.00	7/1/2018	12/30/2018
Ligon	Jack	L.	Las Positas	No	Teach language classes	Community Education	\$40.00	50	\$ 2,000.00	7/1/2018	12/17/2018
- Ŭ				-		,			. ,	,, , ===	, , , ,
McCrea	Joann	D.	Las Positas	No	Teach activity classes	Community Education	\$30.00	50	\$ 1,500.00	7/1/2018	12/30/2018
				-		,			. ,	, _, 2	, ,
Park	Raymond	J. Y.	Las Positas	No	Teach physical activity classes	Community Education	\$30.00	50	\$ 1,500.00	6/1/2018	12/30/2018
-				-			+====		, _,	-, _, _010	_, ,
Ringener	lames	W.	Las Positas	No	Teach fencing	Community Education	\$40.00	50	\$ 2,000.00	7/1/2018	12/17/2018
Ringener	James	w.	Las Positas	No	Teach fencing	Community Education	\$40.00	50	\$ 2,000.00	7/1/2018	12/1

## Informational Report for the July 17, 2018, Board of Trustees Meeting

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Sanchez Heredia	Marcelo	(nmi)	Las Positas	No	Teach fitness and wellness classes	<b>Community Education</b>	\$30.00	50	\$ 1,500.00	6/1/2018	12/30/2018
Sapsford	Paul	(nmi)	Las Positas	No	Teach physical activity classes	Community Education	\$30.00	50	\$ 1,500.00	7/1/2018	12/17/2018
Shrapnell	Sara	L.	Las Positas	No	Teach fitness and wellness classes	<b>Community Education</b>	\$30.00	50	\$ 1,500.00	7/1/2018	12/17/2018